Title:Phys101-Q10a-031.jpg Author: Dr. Abdelkarim Mekki

Physics 101 Rec
Quiz & 13a
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The figure shows a uniform horizontal beam of length 10 m and mass 25 kg that is pivoted at the
wall, with its far end supported by a cable that makes an angle of 50" with the horizontal.

o) If a load of mass 60 kg is placed at 3,0 m from the pivot, what is the tension in the cable?
N
™,
F T
M
O :
3 Mo, W ma
I..:_ I % _--T!.. |'!.h_ — —
IUm
— ! ] e |" o i
— B - i | - P 1 . i OV P LS 3 S ST =L
Ly = O = [{0)sin 1367 — Mg (3)sindD - M3 a1 =0
(3M.+ SmYyg F——
_--. 3 -l_ - — L — —‘:I :'II. — g | HII:-1 ;:!_ ]
IL:I I.:::I [ | J:'_,.Ll-
(b What is the magnitude of the force at the pivet point?
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